Tabulka [T1]

Méreni ¢asového intervalu

Cislo

méreni 1 2 3
Pocet tiki 20 20 20
Cas [s] 95,76 95,70 95,74
<t>= 479 s

G, = 0,01 s

Cs = 0,02 s

c = 0,03 s
lt= 4,79 0,03 s
Polomér ¢astice

Priimér d = 850 nm

Polomérr = 425 nm

Tabulka [T2]

Zvétseni optické soustavy

Pocet dilkt 10

1 dilek [mm] 0,01

ZvétSena

délka [cm] 17,2

Chyba zvétsené

délky [cm] 0,2

ZvétSeni 1 1720

Chyba zvétSeni 12

Pocet dilkt 5

1 dilek [mm] 0,01

ZvétSena

délka [cm] 21,5

Chyba zvétsené

délky [cm] 1

ZvétSeni 2 4300

Chyba zvétSeni 47




